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1 | mEEEH 100 0 100 0 100 100%
2 | WEH— &% TE 2 0 2 0 2 100%
3 | WAEMRELRS 19 2 17 2 17 100%
4 | WHEF R 6 0 6 0 6 100%
5 | TAEEAR 2 0 2 0 2 100%
6 | WAL 5 0 5 0 5 100%
7 | WREBEA 54 0 54 0 54 100%
8 | WHEZEkR 5 2 3 2 3 100%
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9 g/\ﬁ RRAAL 2R IE 3413 1 3412 1 3409 | 99.91%
10 | WEARRIER 10568 0 10568 0 10521 | 99.56%
11 | WEARKERE 185 157 28 156 28 100%
12 | WA 2 #XR 515 173 342 173 341 99.71%
13 | iREIEMA 87 0 87 0 87 100%
14 | WK% R 49 28 21 28 21 100%
15 | R KA 2 0 2 0 2 100%
16 gm”ﬁjﬂt%ﬁr% 10 0 10 0 10 100%
17 | TIA#HEERS 1594 97 1497 96 1497 100%
18 | N AEHE 105 0 105 0 104 99.05%
19 | wHgRBEEERE 982 184 798 184 798 100%
20 | WEFKRER 258 0 258 0 258 100%
21 | WARBEHPAZE 39 0 39 0 39 100%
22 | EREARAEESFL | 2708 402 2306 403 2306 100%
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26 | WEN BRI 8 0 8 0 8 100%
27 | WARS 4 0 4 0 4 100%
28 | WHLBKES 202 0 202 0 202 100%
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